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SECTION-A Time:12.00 10 3.00
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Note : Attzmpt any TWO Questions.
All questions carry equal marks.
Viva and Journal carries 7 marks jointly.
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Use separate answer-sheets to write answers of section-A and section-D.

Q-1 (A) Find the 5® root of —/3+i.
(B)

Determine where Cauchy-Riemann equations are satisfied for the function
f(2) = (x-¥)*+2i(x*y). Determine region of analyticity.

Q2 (A) show that the function u(x.y)=3r'y+2x" - y' -2y ishanmonic. Find
the harmonic conjugate function v and analytic function [(2).
(B) Determine an analytic function whose real port is e™*(xeos2y— ysin2y).

Q-3 (A) Find the image of the infinite stip 0 € y < % under the iransformation w=

(B)

Find the bilinear transformation that maps respectively the points i, 1, -i in Z plane onlo
the points -, 1, 1 in W plane.

Q= (A) Obuain the fourier series expansion of f{x) = xsinx. Ijence deduce that
=z 1. 1 . —
+

3 2 1S W

, & " . x,x€|0,7]
(B)  Obtainthe fourier series in [0, 27 | for the function f(x) =
2x-x.x€(7.27]
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MATHEMATICS PAPER-206 (PRACTICAL-1, BASED ON MAT-304)
SECTION-B x Time:12.00 to 3.00

Allempt any TWO Questions.

All questions carry equal marks.

V'iva and Journal carries 7 marks jointly.

Use separate answer-sheets to write answers of section-A and section-B.

Solve the following LPP by graphical method.
Maximize Z = 5X, + 7X3
Subject to the constrains: Xy + Xa <4:3X) ¢+ 8Xs €24 10Xy + 7X; £35;
Xi.X220.
Solve the following LPP by simplex method.
Maximize Z=X; + X3 - 13X;
Subjectto the constrains: 3X) +2X: +X3<S32X, + Xe = 02 X . Xo. Xa20.
Solve the following LPP by big-M methad.
Maximize Z=3 X; +2 X3
Subject 10 the constrains:
Xy ~4Xs €2:3X ~4X: 215X, . X2 20.
Solve the following LPP by 2-phase method.
Maximize 7Z. = X; + X3
Subject to the constrains:
2%+ X 24X+ 721X 27X L X 20.
Using duality solve the following LPP.
‘Minimize Z=3 X3 # 2 X,

Subject to the constrains:
X1 AN ESXI+ X0 <X . Xy 20.
Using “Hungarian method™ to solve the following AP.Find the minimum cost solution

__of I‘nllm\_-'i_ng_frx 5 assignment problem
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